TotalMarks:42 Class:9th Time:1:20 min
Subject:Physics(Subjective)

Attempt any six (12).

1 What do you know about G? Write its value. -u.‘.J f/ bw:f‘ u'? Wuj&lgg.?]uﬁgzgéG 1

2

“ . . R ;

Why communication satellite are stationed at geostationary orbits? (‘uj Ll?é J },{/ u’: < d ﬁ‘.’“ }5 w 1},-:/ of e }g/

3 .. . P . " Lo Z N 3
Give the orbital speed formula for Artificial Satellite. -ufﬁ ke St T Sk (§ s

4 On what factors the orbital speed of a .. & # 4
fedn s LU 2SS PHHTLS _/uf;qf

satellite depends?

5 What is soil erosion? Cesl p e S8 5
6 Define chemical energy. sl /y/cgﬁj!‘f‘:’/ 6
" Define Solar energy. -LZ/ -/ L/( J T
8 Define efficiency and write its equation. _u,‘,“[ @,,VU& Il / - /7 J U/P d’; | 8

Attempt any six (12).

' Write a briefnote on gases. _u.‘.éibbfj/‘.g/,ff 1

2 State Pascal’s law. - g ksl KJL L 2

3 State Hook's law. S e 3

4 What is a thermometer? Why mergéiny ¥s é}'u)ﬂ//"ubéél._f/"fr/’/d///i ?{;g}{yj 4
preferred as thermometric substanee? ¢ L&La 57

5 Name the factor on which the rate of -u‘/ut/JlfLi:LnJul}"l/ﬁ/%ﬂ 5
evaporation depends? T T

® Write two uses of bimetal strip. & L1 LS 2dlern

" Define Conveetioh. =Py A -4 /? d/ J’g 7

8 What is gliding? el e Figf 8

Attempt all (18).

1 (a) Calculate the value of g, the acceleration due to

o & (&x” 7 . R (@) 1
gravity at an altitude 1000km. The mass of the ‘u.:/(’JM""é d/gd')‘)’gd/‘:d{’//gdﬂd//f%l 000
Barths < 2 K6A00UR b Kt iml e/ K 6x10" VKR

(b) T ()
A man M, takes 80s in lifting a load of 200N uﬁa—w‘fd’dﬂ{100&0”,@5200M|Uﬂ7-{'

through a height of 10m, while another man IOsuﬁ‘%)(Lf'l/ ..«C;u?:Mzuil/»,?.-‘gﬁfSOs
M, takes 10s in doing the same job. Find the ~U:/’/f’b//’£d/—'..(’/?~€-u~

power of each.

2 @ How density of an object can be found with _+5C@JKP4&)~$JKKLJ54J¥%I @ 2
Archimedes principle =t Seolos

® How much heat is lost in an hour through a c«/’]éfufﬁlfvg PRy J%JJIKJ&@Z@S/m ©
glass window measuring 2 mby 2.5 m when -< 5 OCZ./.?;&ﬁ/}/}'zSOCi./;;&U,C’.éd/}’fdw
inside temperature is 25"C and that of outside cuf:” d/ ké LJ lf.‘ao.Scmé Cs d/ J ¥
is 5 "C, the thickness of glass is 0.8cm and the 0.8Wm K
value ofk for glass is 0.8Wm K.

© 2022 A product of "ParagonSoft" Gujranwala,Pakistan



